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XXX XX EZX-2-2-X-8 -1 X X% N

# PROB3.

# PROLOG TRAIN PROBLEM, P 20, NO 10,
& STAGE 5.

® G LUGER oCT 1975.

LEX 2222222 22 L2200 0 X X 2N

+TFLAG.

+GIVEN(V.DP.D1.D2.D3.NIL).

+STANDSYS(SYS).
+STANDUNIT(L,FT,SYS) =-/.

+STANDUNIT(T,MINS,SYS) -/.

+STANDUNIT(#U,®#U,#SYS) -ISCONST(2U) -/,
+STANDUNIT(#D,2U,2SYS) -UNIV(=D,#S,eARGS)

-LSTANDUNIT(=ARGS,®#UARGS,»#SYS) -UNIV(#U,#S.sUARGS).
+LSTANDUNIT(NIL,NIL,&SYS).

+LSTANDUNIT(#D.=DL,#U.2UL,#SYS) =STANDUNIT(#D»#U,8SYS)
~LSTANDUNIT (#DL,®UL,®SYS).

+SEGMENT(EPISODE,PERIOD1.PERIOD2,PERIOD3.NIL).
+PERIOD(PERIOD1) .

+PERIOD(PERIOD2).

+*PERIOD(PERIOD3) .

+PERIOD(EPISODE).

+DURATION(PERIODL,TI1).
+DURATION(PERIOD2,TI2).
*DURATION(PERIOD3,T13).

+DURATION(EPISODE,TID).



+INITIAL(PERIOD1,DEPARTYRE),
+INITIAL(PERIOD2,CHANGE1) .
+INITIAL(PERIOD3,CHANGE?2) .,
+INITIAL(EPISODE,DEPARTURE) .
+FINAL(PERIOD1,CHANGEL) .
+FINAL(PERIOD2,CHANGE2) .
+FINAL(PERIOD3,ARRIVAL) .

+F INAL(EPISODE, ARRIVAL),

" *MOMENT (DEPARTURE) .

+*MOMENT (CHANGEL) «
+MOMENT (CHANGE2)

+MOMENT (ARRIVAL) .

+DISTANCE(TRAIN,D1,PERIOD1).
+DISTANCE(TRAIN,D2,PERIOD2) .
+DISTANCE(TRAIN,D3,PERIOD3).

+DISTANCE(TRAIN,DB,EPISODE).

+VEL(TRAIN,ZERO, DEPARTURE) .
+VEL(TRAIN,ZERO, ARRIVAL) .
+VEL(TRAIN,V,PERIOD2) .
+VEL(TRAIN,V,CHANGE1) .

+VEL(TRAIN,V,CHANGE2) .

+ACCEL(TRAIN,A1,PERIOD1).
+ACCEL (TRAIN,ZERO,PERIOD2) .,
+ACCEL(TRAIN,A3,PERIOD3).

+MEASURE (ZERO, @) .

+MEASURE(TI1.,T1) .



+MEASURE(T12,T2).
+MEASURE(TI3,T3),
+MEASURE(T[0,T2).,
+MEASURE(D1,D0/N),
+MEASURE (D2,D0-2D3/N) .
+MEASURE(D3,DB/N) .
+MEASURE(DA,N).
+MEASURE (A1,Y1).,
+MEASURE(A3,Y3).

+MEASURE(V,2).

+CONST(N) .
+CONST (Y1),
+CONST(Y3) ,
+CONST(2),

+UNIT(ZERO,#=W).
+UNIT(TI1,SECS).
+UNIT(TI2,SECS).
+UNIT(TI3,SECS).
+UNIT(TI@,SECS).
+UNIT(D1,FT).
+UNIT(D2,FT).
+UNIT(D3,FT).
+UNIT(D@,FT).
+UNIT(AL,FT/SECS:2).
+UNIT(A3,FT/SECS:2).
+UNIT(V,FT/SECS).

+DIRECTION(ZERO,2U,®V).

|
|
l



+DIRECTION(V.,D,8).
+DIRECTION(AL,2,0).
+*DIRECTIONCA3,2,0).

+G0 -FIND(TIP.NIL,®ANS).,

+FIN,
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